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• a

b
= 2

3a2 + 2b2 − ab

a2 + ab
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• |x| + x = 2

� x + 2 = 1 � x + 3 = 0 � x − 1 = 0 � x − 2 = 0

•
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3x + 2y = −1
2x + 5y = 3

� x2 + y2 = 0 � x2 + y2 = 2 � xy = 1 �

• x2 + 6x + 5 = 0

� � −6 � −5
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• x2 + x + m = 0

� m = 1 � m = 2 � m = 3 �

• x2 − 4x + 3 ≤ 0

� (−∞; 1)∪(3; +∞) � (1; 3)

� [1; 3] � (−∞; 1] ∪ [3; +∞)

• y = x2−4x+4 x∈(−2; 2)

� 0 � 4 � −4 �

• (x − 1)(x + 2)

x(1 − x)
≤ 0

� (−∞;−2] � [0; 1]

� (−∞;−2] ∪ (0; 1) ∪ (1; +∞) � [−2; 0) ∪ (0; 1]
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• √
x + 2 < 1

� x ∈ (−∞;−1) � x ∈ [−2;−1) � x ∈ (−1; 0] � x ∈ (−2;−1]

• 2x = 4−3

� −3 � −6 � −1 � 9

• log
5
25−3 =

� −3 � −6 � −1 � 2−3

• 5π
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• sin
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sin x � 2 cos x � 2 sin x

• cos x = 0,45
[
0;

π
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• M �ABC P

AB AP : PB = 2 : 1 BMP
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• �ABC BC = 2, AC = 3, <ACB = 120◦
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• �ABC BC = 2, AC = 3, sin <ABC = 0,3
sin <CAB
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• x2 + 4x − 5 = 0

• m x2+x+m = 0

• y = x2 + 1 x ∈ [−3; 2]

•
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x + y = −4
xy = 3

• lg(x + 2) < 1

• ABCD BD =
√

27 − 3 AC =
√

32
O <AOD = 105◦,

ABCD

• lim
x→1

x2 − 1

x2 + x − 2

• f(x) = x5 − 3 cos x + 1
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